
Puissances de Dix (F)

19 × 1 = 36 × 1 =
19 × 10 = 36 × 10 =
19 × 100 = 36 × 100 =
19 × = 36 × =
19 × = 36 × =

77 × 1 = 98 × 1 =
77 × 10 = 98 × 10 =
77 × 100 = 98 × 100 =
77 × = 98 × =
77 × = 98 × =

33 × 1 = 48 × 1 =
33 × 10 = 48 × 10 =
33 × 100 = 48 × 100 =
33 × = 48 × =
33 × = 48 × =

17 × 1 = 52 × 1 =
17 × 10 = 52 × 10 =
17 × 100 = 52 × 100 =
17 × = 52 × =
17 × = 52 × =

86 × 1 = × 1 =
86 × 10 = × 10 =
86 × 100 = × 100 =
86 × = × =
86 × = × =

DÉFI
MathsLibres.com

1 000 1 000
10 000 10 000

1 000 1 000
10 000 10 000

1 000 1 000
10 000 10 000

1 000 1 000
10 000 10 000

2 548
2 548
2 548

1 000 2 548 1 000
10 000 2 548 10 000



Puissances de Dix (F) Solutions

19 × 1 = 19 36 × 1 = 36
19 × 10 = 190 36 × 10 = 360
19 × 100 = 36 × 100 =
19 × = 36 × =
19 × = 36 × =

77 × 1 = 77 98 × 1 = 98
77 × 10 = 770 98 × 10 = 980
77 × 100 = 98 × 100 =
77 × = 98 × =
77 × = 98 × =

33 × 1 = 33 48 × 1 = 48
33 × 10 = 330 48 × 10 = 480
33 × 100 = 48 × 100 =
33 × = 48 × =
33 × = 48 × =

17 × 1 = 17 52 × 1 = 52
17 × 10 = 170 52 × 10 = 520
17 × 100 = 52 × 100 =
17 × = 52 × =
17 × = 52 × =

86 × 1 = 86 × 1 =
86 × 10 = 860 × 10 =
86 × 100 = × 100 =
86 × = × =
86 × = × =

DÉFI
MathsLibres.com

1 900 3 600
1 000 19 000 1 000 36 000

10 000 190 000 10 000 360 000

7 700 9 800
1 000 77 000 1 000 98 000

10 000 770 000 10 000 980 000

3 300 4 800
1 000 33 000 1 000 48 000

10 000 330 000 10 000 480 000

1 700 5 200
1 000 17 000 1 000 52 000

10 000 170 000 10 000 520 000

2 548 2 548
2 548 25 480

8 600 2 548 254 800
1 000 86 000 2 548 1 000 2 548 000

10 000 860 000 2 548 10 000 25 480 000


